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One does not set sail on a ship — 739502 PR PR

Overview
The &n»12 stated that one does not set out to sail on a ship less than three days
before naw. Our MdOIN clarifies this ruling.
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Even if the ship will remain within the naw awn it is forbidden to sail on this

ship, because of ‘swimming’, as is evident in 19510 P -
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Regarding a Rabbinic student who said, I want to sleep on the ferry’, and he

went to the other side of the river and guarded the fruits -
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It seems that the m7°2 which he guarded were within the 2110, and nevertheless

without this deception it would be 910K to ride on the ferry. Thus proving that one
cannot sail on a ship on N2w even 0INT TIN2.

Summary
It is forbidden to ride on a ship on NIw even 2WNA TN, because it is like

swimming.

Thinking it over
Is the proof from P20 oD, only that it is TOX even 21IN7 N2, or is it (also) a

proof that it is MOX because of LW?

! Swimming is forbidden on N2w (in certain cases) out of concern that he may build a raft. The same 70X (for the
same reason) applies to sailing on a ship on naw. Our M»do1N does not address why it is permiited to set sail three
days before naw (even if he will be sailing on naw). See " NIX 28K NNIA.

* See ‘Thinking it over’.

? This 112772 X2 had an orchard on the other side of the river. There was a ferry (operated by a *121) on his side of
the river. The 712771 X27¥ said on 2w, ‘I am going to take a nap on the ferry’, knowing full well that the >731 will
(sooner or later) cross the river. When the 121 (eventually) crossed the river, the 71377 X27% was able to guard his
orchard. The X na there ruled that it is a An7vi7 by a 11277 (the prohibition for sailing is only a 71377), so it is
permitted; indicating that without 7»7v77 he would not be able to cross the river with the ferry (even though it was
amng Tn2).

* See "X MoOIN who writes, DINY VI NXYY D7 77 XY PRI MK X2°K K. It would seem that regarding sailing
which is 710X because of a 7177 (maybe he will make a raft), the 712771 X271% was willing to be 0 yn (see *"w" there
Tnvn "7 that 791035 72vn% NR RY RITT POV 1ANR KD XIT 13271 XAIXT 10 7297), however regarding 1IN MOK,
which is an outright 11277 M0°X (not because of a i17°13), he would not have been o™ vn.

> See footnote # 2.
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